
BCM SCHOOL, BASANT AVENUE, DUGRI ROAD, LUDHIANA 
CLASS-    III    SESSION 2025-26 

 (SUBJECT-MATHEMATICS REVISION ASSIGNMENT JULY 2025-26) 
(TOPIC-MULTIPLICATION) 

       1.MCQ’S 

a.If there are 50 beads in a necklace then how many beads will be there in 

10 necklaces? 

  I) 200 ii)500 iii)300 

 b. 9 times 12 is equal to  . 

 i)  45 ii)108 iii)129 

 c.  Any number multiplied by 1 gives 

 I) 1 ii)0 iii)number itself 

 

2.CASE STUDY 

In class 3, there are 35 students in each section. If there are 7 sections . 

a) How many students are there in class 3? 

b) Which operation you will use here? 

3. Find the product:- 

a) 584 x 9 b)68 x 9 

   c) 86 x 12                                                  d) 15 x 18 

  4. Fill in the blanks: 

       a) ___ x 45 = 0 b) 1 x  = 4675 

         c) 354 x___= 35400 d) 997 x 100 =   

     5. The price of an article is ₹ 205. How much 19 articles will cost? 

     6. Circle the correct answers in the given table: 

12 x 5=60 9 x 8=72 6 x 7=42 8 x 8=16 

11 x 8=118 4 x 9=36 5 x 7=35 3 x 8=24 

2 x 9=18 7 x 4=28 6 x 6=46 8 x 5=40 

 


